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s ® | B KM ABRUH B % %
e 3 10, 800 36x 3
1 35 126, 000 36x 35
2 64 230, 400 36x 64
3 153 550, 800 36%153
4 135 486, 000 36x135
5 150 540, 000 36x150
6 3 10, 800 36x 3
iF 1 5 18, 000 36x b
iF 2 25 90, 000 36x 2b
i 3 40 144, 000 36x 40
i 4 119 428, 400 36x119
iz 5 211 159, 600 36x211
¥ 6 212 763, 200 36x212
F 7 8 28, 800 36x 8
i 4 14, 400 36x 4
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ANEEBRES (M2) 2023512 R 14H
58 | & B ABRU BB W o

£ 1 23 82, 800 36x 23

E 2 2 1,200 36x 2

= 3 21 75, 600 36x 21

E 4 35 126, 000 36x 35

E 5 21 75, 600 36x 21

E 6 16 57, 600 36x 16

ZE2 3 10, 800 36x 3

ZE3 1 25, 200 36x 7

FEA4 20 712,000 36x 20

FED 1217 457, 200 36x127

ZE6 190 684, 000 36x190

FE7 10 36, 000 36x 10

FES5 4 14, 400 36x 4

B2 2 5 18, 000 36x 5

2% 3 2 1,200 36x 2
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B 4 24 86, 400 36x 24

% 5 3 10, 800 36x 3

B 7 15 54, 000 36x 15

BE 15 54, 000 36x 15

&1 3 10, 800 36x 3

&2 9 32, 400 36x 9

=3 8 28, 800 36x 8

R4 2 7,200 36x 2

25 14 50, 400 36x 14

A 4 8 28, 800 36x 8

B 1 10 36, 000 36x 10

B 2 1 3, 600 36x 1

B 3 3 10, 800 36x 3

B 4 1 25, 200 36x 7

B 5 11 39, 600 36x 11
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MABEBRES (i) 2023512148
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B 6 14 50, 400 36x 14

B 7 13 46, 800 36x 13

e 3 1 3, 600 36x 1

i 4 4 14, 400 36x 4

& 5 3 10, 800 36x 3

e 6 17 61, 200 36x 17

3 2 1,200 36x 2

W 5 2 1,200 36x 2

B 6 5 18, 000 36x 5
= 1,847 6,649,200 K% (1, 847)
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